
\) Multiply: (x2 - 3x + 4) Zx 
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3) Fill in the table below. 
Positive or Negative Even ar Odd Sketch a graph that could 

Leading Coefficient Degree have this end behavior 
End Behavior 

as x ➔ +oo, f(x) ➔ +oo 

as x ➔ -oo, f(x) ➔ +oo 

as x ➔ +oo, f(x) ➔ -oo 

as x ➔ -oo, f(x) ➔ -oo 

as x ➔ +oo, f(x) ➔ +oo 

as x ➔ -oo, f(x) ➔ _ 00 

as x ➔ +oo, f(x) ➔ _ 00 

as x ➔ -oo, f(x) ➔ +oo 

~ - ; :::~ 
-~ ~ 

-!--· (J 

- 0 

f' ~;-v ~ --~ 

I,'\ 1\ 
' f 

~ 
i I ""> 
~ ;. 

v? 
l 

\t/' 

~ '(;_~ 

... .,,) 

-. 
'JI ,v 



Find f(-3); f(x) = 4x3 - Sx2 + 6x - 1 5) f (x) = (x - 2)(x + l)(x - 3) 

I x-intercept(s) : l('.<:• 2. = t!> X +I ~o ;(<>J 
- _ ___ X :.a,. X ':: • / )(.::., 

111 (2,o)r-,/40,0; 7 
-J l J... y-intercept: / (4 JJ --

~ :: (0 -2-) (o +-l)(o -~) 
(-~) c , ) (- l ) -=- 6 

6) Classify each of the graphs below by type of graph. Then, write each in factored form. 
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Type of Graph: 0 dd) I- L. e. Type of Graph: (1.1-r -ea.~ + s lc-fJ..e..> 
0 u.};/~ 

Factored Form: r(x) = I (x+1)~(x.-z) Factored Form: If; Ix + 2-

l, 5 
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Type of Graph: {Si .. ta..d. ra:hc..- Type of Graph: (} uarH c__ 
e v ~n .1 + L ~ c , ev'-C/1 / + L. C. 

I Factored Form: ftx) :: / (X +) )(x ~ ~) Factored Form: N><J= 1 (x +-2.)(x-1-l) (x I) 



9) Factor and solve: x4 
- 2x2 

- 15 = o 

8) Factor and solve: x2 
- 25 = o 

x'-4:::D 
¢ t.1.S--~-y;;: --· 

x .:: ±. 5 

TRIGONOMETRIC FUNCTIONS 

2Jt..: 0 ., N.:.O 2) f( ) _ 5 (x).~ 
Transformations: :l.)( .: :ar+ 1''"1'1. x - - cos 3 + 

1 -4# r:o ~ :rt) 

f) 
LJ , -' 

1
, , Transformations: __L: ~ ~ )(_ ~ 4,"' 
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Period: ? 1-, - , J Domain: (- - °: ~ ends. a.J,, c,f'I 
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: Convert the following degrees to radians. 

1) 270° b) ~' 'lt 
~- 1f . J1-7r/! ---- i,r . . .. 
,--~.,~ I ~ 

4) Convert the following radians to degrees. 

1t 'Is· o a)-
4 

Jt ,ao.· 
i/ . if 

5) Write an equation for the graph. 

-----6+----+----+--+----+----t-----+--+---1-----+---1--

---2-1----l-------+--+------1-----l---1-----l-----+-----i---t----

--+---3-+---l-------+--+------1-----l----1-----1-----+-----i---t--

Sin or Cos? 3 I Q Amplitude:---=~'-------

How many waves are inside of 2rr? a Equation: 

Mid\inej:::. I 

f&)~ 2-, sin(3" )+I 
6) Write an equation for the graph. 
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I Sin or Cos? Cor. Amplitude: __ 3 __ _ 

I How many waves are inside of 2rr? _l_ Equation: 

Midline: j =::. -z_ 

.f&) =- 3 c.os6x)-~ 



Use the unn <.,11 l,1c;; 1...., .. . . 

1/'J- ) 
31t 

b cos 2 0 
) 

, :,n 
c sm 3 

- . -

+ 
B) If sin 0 = g and is in quadrant 1. Find cos 0 

9) If cos 0 = - ~ and is in quadrant 2. Find sin 0 
7 

13 -I-
and tate. ;z. s,,, ... e +-c..os e~ I 

-and tan 0. 

~ ¥) e, ~ 'Sj:n,9 :;.. .J1:;,. e,.o.se , .a 
•~ ~ I· 1 ~ - · ~-i[o 'fA , ~"' .... -- ~ "' ,,-.'t .;,,- 5 - . ;;/· . 

10) Plot the points trOm the circle onto the graph. ,,> F 
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I PROBABILITY AND STATISTICS 

l) Use the table to find the probabilities below. Give both reduced fractions and 

percentages. 

Eye Color Black Brown 

Female 20 30 

Male 25 15 

Total 45 45 

a) P(Brown)= '-/ _;-

/fl} 
c) P(Female or Blue)= 

&>5 + i.i--10 ~ .YJ__ 
/(p7- 1,1 

e) P(Blue or Green)= 

iz,+. 3S 
I ft; 1-

Blue Green Gray Total 

10 15 10 85 

12 20 10 82 

22 35 20 167 

b) P(Male and Green)= 

d) P(Gray I Male)= 

/0 
..,;.---

f~ 
f) P(Female and Gray)= ID 

~"h 
2) Use the histogram below to find the mean, median, mode, and range. 

~s , ,rt!) · ·, • - ~ ••. £ Mean: / ( t 1 f- 2 ( 5"") J:: 3 ( 4) +- '-t { i ) +- S-( _) 
. . - Ii 

4 -f--

Median: 

1 

Mode: z Range: S -/ - L/ 

Put them in order from least to greatest: 

Mod c 1 M e.tv'J, Ill e.d I a...l'/ f? t:?....lt9,,L-, 
;I V 



I 
Use the table below to find the mean, 

edian, mode, and range. 

/ 1--#_o_f _Ta_c_o_s_E_a_te_n--+-__ F_re_q_u_e_n_c_y _ __, 

2 17 

4 23 

6 16 

8 24 

Mean: , 

2./il) 1- t/{2.~) f- ~ { 1~ ) r f ( z q_~ 
go 

:::. S, I 7S-

Median: 

Mode: f 
Range: rf' .;_ :::Z-. ~ ~ 

Put them in order from least to greatest: 

;v/-e,a,n/ l1ed/cu,/ffan9 e / Mode,, 
4) The weights of dogs in a doggy day care are listed below. If the 85 pound dog loses 

weight and now weighs 80 pounds, how does the mean and median change? 

Weights: 20, 25, 34, 35, 36, 42, 56, 58, 60, 62, 70, ~ rt) 

Original Mean: New Mean: 

Original Median: New Median: 

5) Yasmine has a bag of marbles with 4 red, 8 yellow, 2 green, and 6 purple. 

a) What is the probability that she pulls out two yellows given that she places the first 

marble back before grabbing the second? g --
b) What is the probability that she gets a green, does not replace it, and then gets 

O 
red? 

2- 1/ - g 
~· /1 - Jffi ~ 2,17. 



EXPONENTIAL AND LOGARITHMIC FUNCTIONS 

1) Make up a story problem that could 

model the equation: f(t) = 1,000(0.85? 

3x 
2) Solve: 

3
x = 3-5x 

J(J hn's 1 MO ,l'J veslJr1 e,d:, 

/tJse.s IS% ~4-c/u 

-S"X 

ID_J3 I ;;;. ·/';p S 

1 eaf, tf I) w fr'I. u (! (_y 

lif!IL ~e h_cwU money 
l ,i I,. y -UcfS ? 

4) Find the equation of the asymptote for 

the functions below. 

a) f(x) = logix - 3) + 2 

b) f(x) = log5(x - 7) - 1 

d) f(x) = 5(2)X + 8 'j ~ f 

6)Solve: s2x-3 = 1 

~x - ,3 

~ fr =: /Js l 

.1x-.s - 0 

5) Solve: 55 4x - 125 

S- 'IX. -HJ~;:. c lj ~ / ;J_$'" 

S-'lx ::::: 3 
-s- -s-

:4. ~ -2-

~ -'t 

>( ::- I/,-_ 
7) Solve: 4x · 46x = 42x 
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